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answer to the samples of the book tests Gemoetry of the third prep 1 term

MODEL (1)

First: Choose the correct answer:

Tan 45° = ...

Al 1 B 2V 2 g ] Bl v/ 2

2
If Sin x = %, X is an acute angle,then m (/ X)=

a4 B 60 ¢ 30 D 90

The distance between the two points (3, 0), (0, -4) =
A 4 B, § &l 6
If X+Y=5, Kx+ 2y =0 are perpendicular , than K =
- ) Bl -1 ol 1 D 2
IfA(5,7),B(1,-1), then the mid-point AB is ..........
& (2,3) [ 3;3) g (3.2) D| (3,4)
The equation of the sraight line which passes through the point (3, -5)

and parallel to Y-axis s

Al x=3

Second:
A Whithout using calculator prove that sin 60° = 2 sin 30° Cos 30°
g Prove that the points A (-3, -1), B (6, 5), C(3, 3) are collinear
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answer to the samples of the book tests Gemoetry of the third prep 1 term

Third:

A If4cos 60°sin 30°=tanx. Find the value of x, then x is an acute angle.

g If the mid-point of AB s c(6, -4) then A (5, -3) Find the point B.

Fourth:

a If the straight line L, passes through the points (3, 1), (2, K) and the straight line L, makes
with the positive direction of the x--axis anhgle of measure 45° . Find the value of K if
L /L,

g. ABC is a right angled triangle at , AC = 6cm , BC = 8cm find
First: Cos A cos B -sin Asin B .
Second: m ( / B).

Fifth:
Find the equation of the straight line which slope is 2 and passes through the point (1, 0).
Prove that the points A(3, -1) , B (-4, 6) , C (2, -2) which belong to an orthogonal certesian
co-ordinates plane lie on the circle whose centre M(-1, 2) . Find the circumference of the

circle.

ANSWER MODEL (1)

QUESTION (1)
(1) Tan(45) =1
(2) m(Z x) =30
(3) V(3-0)%+(0+4)? =25 =5
(4) Slope; ==1

1
o Sl X Sz ==1

X1+ Xy Y1ty

(6) X=3
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answer to the samples of the book tests Gemoetry of the third prep 1 term

QUESTION (2)
(@) Sin (60°) :213_

AR — Yo=Y1 — 2+1
(b) Slope AB T

Slope BC = Y2=Y1_ =
Xy = X1

. Slope of AB = Slope of BC

QUESTION (3)
(a) Tan (X)=4cos (607) sin (30)
=4 xLixl=1
2 [¢]
Tan (x) =1 s m(LX) =45

(b) Let B =(x,Yy)
X+5 W

= X+5 =12

= y=-3 ==38
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answer to the samples of the book tests Gemoetry of the third prep 1 term

QUESTION (4)

S, =tan (45 )=1
L\, =5=5 = -k+1=1 & k=zero

(b) ABC isaright-angled triangle at C
~. AB=V(AC)’+ (BC)® =V 36 +64 = Al\Ocm

(1) cosAcosB =sin A sinB
=8 8 _ 8«6 =gzr0 oem
10 © 10 10 ~ 10
B 8&m C

(2) SinB=2 =06 shiftsin 0,6 = ,,,,
M (£ B) =36 52" 11"

QUESTION (5)
(@ Y=mx+c=2x+c (4,0) e the straight line

"~ 0=2xl1+c = c==2
The equation Of straight line y=2x-=2

(B) MA =~ (X=X + (y2=-y1)" =V (-1-3)"+ (2+1)* =5 L.u
MB = (-1+4)* + (2-6)> =V 9+ 16 = 51.u
MC =V (-1-2> + (2+2’=V9+ 16 =5 l.u
~MA=MB=MC=5L.U = AB,C lieson the circle

circumferenceofacircle =2nr=2nx5=10xr L.U
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answer to the samples of the book tests Gemoetry of the third prep 1 term
MODEL (2)

First: Choose the correct answer:

@) 25in 30°tan 60° =
3
4T | ERgpg 1

3

2
)

The equation of the straight line which passes through the point (-2,-3) and parallel to
X-aXIS IS covvvee. .
Ax:-? Bx:-3 ‘y:—z Dy:—3

lfCosx:v 3 , X is acute angle , then sin 2x = ...

A circle of centre at the origifw point and its redius is 2 unit length which o3the following
points belongs to the circle ?
AL(1,2) B (v 8y @y 2 0,1)

The perpendicular distance between the two straight lines x -2 =0, x + 3 = 0 equals .....
Al s * b, 23

-

If;f- ; —E-are the slopes of two parallel straight lines then k = ...

a3
il 6 B8 .4 ‘»3 B

Second:
x IfcosEtan 30°= Cos 2 45°find m(/E), E is a cute angle
. Show the type of the triangle whose vertices A(3,3) m B (1, 5), C(1, 3) due to its side

lengths.
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answer to the samples of the book tests Gemoetry of the third prep 1 term

Third:

a Find the equation of straight line which passes through the points (1, 3), (-1, -3) and prove
that it is passing through the origin point.

g [fthe point (3, 1) is the mid-point of (1, y), (x, 3) find the paintof (x, y).

Fourth:

x| Findthe equation of the straight line which intercepts two axes . Two positive parts of
length 1 and 4 for x and y axes respectively and find its slope

s ABCisa right - angled triangle at B AC = 10cm BC = 8cm, prove that sin’A + 1= 2 cos C +cos A

Fifth:

Al prove that the straight line which passes through the points (-1, 3), (2, 4) parallel to the
straight line 3y - X--1=0
ABCD is a trapezium ,AD // BC m(/B) = 905AB = 3cm , BC = 6cm , AD = 2cm . Find
the length of DC and the value of Cos / BCD

ANSWER MODEL (2)

QUESTION (1)
(1) Zx% X3 =3
(2) y=-3
(3) cos() =B =m(x)=30" «sin(2x)=sin 60=
(4) W3,1) becouse V(y3)° +(1)° = 2
5) |2] +|-3] =5LU

6) Li//IL, = m=m, = sk = 6><§=-4
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answer to the samples of the book tests Gemoetry of the third prep 1 term
QUESTION (2)
(a) cos (E) x

1 = (

3

cos (E) = %x V3 = 23

shift cos (V?S_ )=,, = m(LE)=30"

(b) AB = V(Xa=X1)* + (Y2=y1)° =¥ (1-3)"+ (5-3)" =2V2
BC=+v(1-1)"+(3-5°=v0+4 =2 LU
AC=+v (1-3°+(3-3)°=V4+0 =2L.U
* AC=BC = A ABClisisosceles triangle

QUESTION (3)
:yl-y2 = -3-3 —6 =

X1 =X -1=-1 -2
Y=mx+c=3x+c (1,3) e thestraight line

(a) Slope

* 3=3x1+c = c¢=0
The equation Of straight line y =3 X

0 =3x 0 the straight line passing through the point (0,0)

(b) (3,1) =( X1‘£X2, Y1‘;YZ):( 1;—x ’ 3-;3/)

S y==1 .‘.(X,y):(5,—1)
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answer to the samples of the book tests Gemoetry of the third prep 1 term

QUESTION (4)

+ ¥ =¢
4
1, 0) € the straight line

c =1
The equation  x + % =1 = 4x+y=4
(b) < AABC isarightangled triangle at B
~. AB =V(AC)’-(BC)* =V¥100-64=6 U

sSinA+1=64 +1=164 ----(1)
100 100 -

2c0s°C+Ccos’A=2x5% + 00
100

128 | 36 _
T 100 100 ~

From (1) & (2) ~sin A+1=2cos’ C+cos’ A

QUESTION (5)
(a) ~Slope ()= 5=2= 2, Slope () === =2

+1 3 3

Slope (1) = Slope (2) . the two straight lines are parallel
A 2cm

(b) AB=DF=3cm, AD =BF =2cm
3em|  3¢m
FC=6-2=4cm \

- ADFC isaright angled triangle at FB 2em F 4cm
. DC =V(DF)?+ (FC)? =V9-16=5cm

Cos (£ BCD) = % = g

C
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Cmaadal) Ml MODEL (3)
First: Put (V') or (X): ( For the special needs )

The distance between the point (9,0), (4,0) =5

The straight line y = 2x+1 intercepts apart of length - 1 for y - axis

<> - <> <>

If AB L1 CD , then the slope of AB X The slope of CD = 1 (both of
<> <>
AB and CD aren't parallal any axes)

1

@Tan 60° =
3 c—
@ If A(1, 2), B(3,4), thenthe coordinates of the midpoint of AB is (2, 3)( \/)

Second: Choose the correct answer form given:
@ The distance between the point (4,3) and x - axis is 3

4c05 30°Tan 60° = @
A3 & 243 Sl 6

@Ifx+y:5,kx+2y:0areparalle|,thank ==2
Al -2 &l -1 &l 1

The points (0,1), (3, 0), (0, 4)

Alfrom a right angled triangle B from a acute angled triangle
C

from an obtuse angled triangle D! are collinear

- > -

If AB // CD and the slope of AB ==, then the slope of CD

£ Bl 3
A3 5

If sin x = 1, x acute angle, then sin 2x =
)

L

1 g 1
& 4
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answer to the samples of the book tests Gemoetry of the third prep 1 term

Third: Join From column (A) to column (B):

A

@The slope of the straight line which parallel to x - axis is 0 ®

$in230°+ Cos? 30° = .]...... ®
»

@) The equation of the straight line which passes through the

origin point and its slope is 2 isY = ...2..... X

&) The equation of the straight Line which passes through the

point (2, -3) , parallel x - axis y = ..=.3 .

@) The value of slanad NS ®
1+ Tan? 30°

2

Fourth: Complete the following
G) If AB // CD and the slope of AB =1 then
— 2

The slope of CD = 1

2
The opposite figure:. ._ _ .s aright angle

at B, AB=3cm , BC = 4cm, then

Sin C = 5
3

(3) If the point, a) belongs to straight line

3x -4y =-12 ,thena = 3

@ If X cos 60° =tan 45° then x= 2

@ The distance between the point (4, 3) and the origin point in the coorinate nlane =

@ If the origin point is the mid - point of AB , A(5, -2) then B -(-
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